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My turn 



I choose the sandwiches at 

Anansi’s feast. There are 12
sandwiches.

I choose the potatoes at 

Anansi’s feast. There are 

14 potatoes. 

There are fewer

sandwiches than 

potatoes at Anansi’s 

feast.

There are more

potatoes than 

sandwiches at 

Anansi’s feast.



Our turn 



There are fewer

________than _______ 

at Anansi’s feast.

There are more

_______ than 

__________ at 

Anansi’s feast.



Your turn 



There are fewer

________than _______ 

at Anansi’s feast.

There are more

_______ than 

__________ at 

Anansi’s feast.



Difference
My Turn 

How many more cakes does Anansi have than Turtle?



Difference
Our Turn 

How many more fish does Anansi have than Turtle?



Difference
Your Turn 

How many more potatoes does Anansi have than Turtle?



Difference

different

same

Anansi

Turtle



Difference



Anansi has nine carrots.

Turtle has 11 carrots.There are two cubes sticking 

out. Anansi has two fewer

carrots than Turtle.

Turtle has two more

carrots than Anansi.There is a difference

of two between the 

number of carrots.

Using the word difference





Clarifying a misconception
P

len
a

ry

There are nine more carrots 

than fish at Anansi's feast.

Do you agree with this girl? 

Why? Why not?






